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S SEARA
BH NSCASDRI(S/ ST - 27)
Cigl: AE2 MABB(ASTZIIL) (e e
- rol 1 0f ar -
A S S2(8) - ISA - BaS S cR HIDS2
OusEZ MIIR3 2,300,000 +6& 13,800
OgY&E+T MIIR= 700,000 +6E 4,200
OZNMEE HIIRS 1,500,000 «6& 9,000
OXEE+E MIIRS 1,500,000& »6& 9,000
OHIAZAD| HZHI(230kw CHE)
1,9773%25 § x5 A 2h7Y 1,730
00IS4 S2FY| f2s 7Y
1,666 %10 ¢ 15 250
202 O4H| 18,000 21,600 A3,600
01 =LHO4H] 18,000 21,600 3,600
201 & 18,000 21,600 A3,600
O&=Hel HgRF& 0|
20,0002 9 102+ 103 18,000
206 M=l 2,405,210 4,542,004 N2,136,884
01 M=l 2,405,210 4,542,004 22,136,884
204 & 2,405,210 4,542,004 AN2,136,884
O[2Z4l] 63,865
O&t+E A=E IO LMUESE 7 24,000
o EYEHTF 500@ #40kg*250 5,000
oNSEHTE 5003 *50kg*332 8,300
otISH+F 500 *20kg*330! 3,300
oZMETE 5002 *50kg 296 7,400
Obli==Xl THEAAIE XOIEAMLUES
e 15,515
o ({2 bH==Xl 5002 x50kg* 146 3,650
o CHEHH==XI 5002 x60kg* 152 4,560
o & Hli=Xl 5003 #60kg* 152 4,560
WNEST BN 500& *10kg =365 1,825
o @A 5003 x5kg* 184 460
k=111 ESN| 5002 x5kg* 184! 460
OF+=AUZ 7 23,900
o RIISEN 394,000& x5m**10& 19,700
o= NSEH 6,000 *x250kg 1,500
osEEXA 1503 *3,000kg =6 & 2,700
OIX =FEXE A=A
2,500 x2kg* 150 2 +6E 450
O[&+=7Hl] 2,341,345
OF+=YULI(AS, U=, 92, =2HE
=) 4333%901,210.54E+6E 2,341,345
207 AL 69,200 6,400 62,800
01 HA372=249d| 66,000 0 66,000
20i & 66,000 0 66,000
OF+T JUTY EG(ZAM, St
20,000,000 *2IH 2~ 40,000
OF+T FI|FY E2X(gY, &5, M=
, @A, Shat 13,000,000& 23| 26,000
03 Al 8 3,200 6,400 A3,200
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2A: A A
B ASTAIRRR(S2/AGAE - 28)
Cigl: 2E2 MARS(AFT2I|) (e @2
OH
S - B S2(B) - NISAY - BAS S SR HIDS2
ON%E J2=78 277
10,0002 x27&*108] 2,700
OA4std il 2 E=20I(HZI| X S)
2,000,000 *15JH 2~ 30,000
O[AIE&HIRXI8I] 92,360
OJLHE A= RAE=HI
1,500,000 *18JH 2~ *50% 13,500
OJLEZR g U Mz =2/l
7,200,000 *4CH 28,800
OJILE X UPSHHE 2l WXl
99, 000 *x2JH A *200H A~ 3,960
Otll=Xl 4 29H|(A 23])
1,000,000 *200H 213l 20,000
Obli==Xl & JI2EZE ZHIIHYE S
SINEE ] 146, 2503 *80m’ 11,700
OHZEIl SXE= (=22 55)
900,000 *55+2IH4 9,000
Obli==Xl & JI2EZE CTV RAEx
1,800,000 *3H 2~ 5,400
Ol==hl] 281,880
OBIIIILEIHY MIIRE
2,700,000& x12& 32,400
OYEIILEIY MIIRI
7,200,000& x12& 86,400
OFAINLEIHY MIRI
4,050,000 x12& 48,600
O0ISSIHLEZE MIIRS
450,000 x12& 5,400
ORADILEIY MIIRE
810,000& x12& 9,720
ONSIHILEIHY MIIRIB
360,000 =123 4,320
OFEIILEIHY MIIRI
90,000 x12& 1,080
OHbH=X MRS 720,000 *12& 8,640
OFLINLELHY MIIRS
450,000 x 128 5,400
OSLaIILEZE 5 0L HIIR=
90,000 #4004 A+ 12& 43,200
OM%ET TAKBIY FIIQ
36,0002 x6001 A+ 12& 25,920
OJIEt &ld DtLEEE MIIRS
900,000& x 128 10,800
202 04dl 10,000 10,000
01 =LHB] 10,000 10,000
20i & 10,000 10,000
O[=H08l] 10,000
Q&= HRFA |
20,0003 =5 100 10,000
ANEE S5 (4+E301Y) 14,782,611 15,378,611 A59%6,000
iy 415,000
& 6,492,000




SA SEARIA
BH NACASDR|(SY/MERE - £7)
Cigl: AISE HE(ALT2IIY) (e @2
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
= 7,875,611
22 ML AIE EF 280,000 656,000 A376,000
401 AIEHIL 20| 280,000 650,000 A370,000
01 A&t 280,000 650,000 /370,000
=0 Al 280,000 650,000 A370,000
OF T J|l=8t e SAH
25,000,0003 *40 2~ 100,000
O&F=% & &Hl &X
80,000,000 *1JH 2 80,000
ONZEAE X FLMNY
100,000, 000& *1JH A 100,000
= AT HUIAY 2,179,000 6,843,000 24,664,000
iy 415,000
o 1,764,000
401 AIEHIZ20UIYI 2,179,000 6,843,000 4,664,000
= 415,000
o 1,764,000
01 A&l 2,179,000 6,843,000 24,664,000
iy 415,000
o 1,764,000
S04 & 2,179,000 6,843,000 A4,664,000
ax 415,000
= 1,764,000
OLF &2t HHIALY
1,649,000,000& *1JH A 1,649,000
OIS+ NEALY
530,000,000 1 2~ 530,000
s 415,000
= 115,000
=EAIEE X 2 EAS 741,295 656,295 85,000
401 A& BIZL2CHYI 723,000 633,000 85,000
01 Al&H| 723,000 638,000 85,000
20l A 723,000 633,000 85,000
Ol 2158+ & 2=l
2,000,000 #1751 2~ 350,000
Oat=E 2 xS AtHI 200,000& *750m 150,000
ODE, =5 HZI| Wi & HA HMelbl
500, 0003 *60H 2~ 30,000
O=Ed ZSEX dE 72|
50,0002 * 1004 2 5,000
O==Ed AZNSsHEI| KRAE=H|
50,0002 *607H 2 3,000
OMNES+=SAHI 500,000& *10A 5,000
Olbii==2 AIE A 180,000
OZLES AMXIE =2 A=A
20,000,000 *1J0 2 20,000




SM: SEAIRIA
HE: MRTASRR|(HY/MOEE - +T)
9l A2 HE(MLERI|Y) (ol mie
FOH SIE] FOH -
SA - FH - SR(3) - NRA - BES S N imE=]
OMBE UEFNT B2 NEAI
20,000,00024* 174 2 20,000
OZA ATUKIZ 2 HIE AL
20,000,00024* 174 2 20,000
ONBH ATUKIZ 2 HIX ALY
201000, 00024112 20,000
OBHAID ATHRIZ 2 HIZALY
100,000, 00021%174 100,000
405 THaHx =8| 18,295 18,295
01 TAIY S ZH S| 18,295 18,205
=0f o 18,295 18,295
O[22 AL 13,205
O+EHZI(DHE) 7Y 13,205
o 13m 53,00021+7521 3,975
0 20mn 68,00021% 1521 1,020
0 25mn 81,80021%1021 818
0 32mm 97,000& #54 485
0 40mn 149, 70021*521 749
0 50mm 187,0002 #5214 935
075 792, 00021%321 2,376
o 100mm 902, 0002 #2021 1,804
o 150mm 1,133,00021%121 1,133
O%Ed HIFX w2 2
50,00021* 1007} 2 5,000
B S E A 1,354,316 1,179,316 175,000
401 AIEHIL 20| 1,302,880 1,127,880 175,000
01 AlZH| 1,300,000 1,125,000 175,000
=ofat 1,300,000 1,125,000 175,000
@ISEEER ==V 1,000,000/ *40021 400,000
Oth479 ST A4T ZROHL A 900,000
OYUAS Y42 HTBA
50,0002 *4,000m 200,000
OB 4P HEBA
50,00021%6,000m 300,000
OLISY Y4PASTBA
50,00021%2,000m 100,000
ONEY H+=PASTIA
50,00021%2,000m 100,000
OBHAID U&= PASTBA
50,0002 #4,000mm 200,000
03 Al&CHH] 2,880 2,880
=0 2,880 2,880
OAIEBLZAL 20|
400,000,00024%0. 7% 2,880
405 THaHx S| 51,436 51,436
01 TtAI S ZF S| 51,436 51,436
=0f 51,436 51,436
Oa%E Al e 26,236




SA SEARIA
BH NACASDR|(SY/MERE - £7)
Cigl: AAE HE(AFZ2D|2) (&
SA - EH - CR(B) - NRAY - BaS S SR RS2
O 13m 59, 100& 3004 17,730
O20mm 77,600& x20H 1,552
025m 96,8002 * 1021 968
O32mm 118,400 & *521 592
O40mm 178,600 & #3214 536
O50mm 226,000 321 678
O75mm 792,000 x3AH 2,376
O 100mm 902,000& x2H 1,804
O+EX FAVSAEI| 1
126,000 *20021 25,200
ﬁ')@ﬂ? SOHE KA HSAIS (e (HEHAL 1,718,000 741,000 977,000
A
= 1,436,000
= 282,000
401 AlEHIZL S0 1,718,000 741,000 977,000
& 1,436,000
= 282,000
01 AI&HI 1,718,000 741,000 977,000
= 1,436,000
= 282,000
=0 A 1,718,000 741,000 977,000
& 1,436,000
= 282,000
Os0HE XA E AN (AEHK]IFR)
1,718,000,000& *1JH A 1,718,000
= 1,436,000
= 282,000
NEXT? sHE XSaST NLAIS (MEAID) 3,011,000 402,000 2,609,000
& 2,537,000
= 474,000
401 AIEHIZL 20| 3,011,000 402,000 2,609,000
= 2,537,000
= 474,000
01 Al&H| 3,011,000 402,000 2,609,000
& 2,537,000
= 474,000
=0 A 3,011,000 402,000 2,609,000
= 2,537,000
= 474,000
Os0HE Xlgtata=C JHLAF (M EX] 3
3,011,000,000& * 100 &~ 3,011,000
= 2,537,000
= 474,000
LER2Z WM ¥ 8 HIAE 900,000 600,000 300,000
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S SEARA
BH: ASCASDR(BY/MFIAE - +T)
TPl NS SE(MRT2IIQ) (e e
SH - B S9(3H) - NRAY - BES S SR HIDS2
401 AlEHIZL S0 900,000 600,000 300,000
01 A&l 900,000 600,000 300,000
S0 &t 900,000 600,000 300,000
O+ =) =2 IXI3A
100,000, 000& *1JH A 100,000
OasE+T =) =2 IX3A
300,000,000 14 2 300,000
OZNME+E =) =2 IXI3A
200,000,000 1 A&~ 200,000
Otz D=8t 89|
1,000,000 *300km 300,000
gt NYa+E HAS3Y AH(HSAIY) 3,299,000 2,700,000 599,000
& 2,519,000
= 780,000
401 AMIEBIZ 2] 3,299,000 2,700,000 599,000
& 2,519,000
= 780,000
01 A&t 3,299,000 2,700,000 599,000
& 2,519,000
= 780,000
S0j &t 3,299,000 2,700,000 599,000
& 2,519,000
= 780,000
OgY Ngda+E HadSsY 2=
1,599,000,000& *1JH A 1,599,000
& 1,119,000
= 480,000
O XMI=EHSE HASSY 25
1,700,000,000& 14 A 1,700,000
& 1,400,000
= 300,000
a0 CHRALS 500,000 700,000 A200,000
401 AIEBIZ U] 500,000 700,000 A200,000
01 A&t 500,000 700,000 A200,000
20i & 500,000 700,000 A200,000
=012 CHEEALS
500,000,000& * 171 A 500,000
CIXIE HEO| WA A 800,000 830,000 230,000
401 AIEHIL 20| 800,000 830,000 30,000
01 A&t 800,000 830,000 A30,000
=0 A 800,000 830,000 30,000
OURXE HEI| EXIAS
400,000&*2,000AH 800,000
MR (AEESIY) 221,247 230,571 AN9,324
AT Q22NAS 221,247 230,571 19,324
201 et23AY| 221,247 230,571 A9,324
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S STAIIA
I ASTASR|(BH/ABIRE - 2E)
CHol: AC2H(ASXERI|Y) (Che: <
: oy JELUNR =
SA - FH - SR(3) - NRA - BES S N imE=]
01 Al 50,371 69,511 19,140
20| A 50,371 69,511 19,140
Olgerag|] 3,52
OZgE £l ¢ 300,0002 *5CH*23] 3,000
OZEIEH 44b| 100,0002! *4CH*33] 1,200
OAFZE DXAM(HIIZ) ZRlE EY 2
ol 500,0002! *1 CH*33] 1,500
OALBE XA (HIIZ) 8X 2|
110,00021 %132t Ax 122 17,160
OMER2 DX 2X 2|
10,0002 *12+ A 4G 880
OALE QLS B8 ZgiIiS MR
70,0002+ 1204 A 840
OLXIN g&g 25 7Y
902 *18,00001*23] 3,240
O%=THEI| HED|IZ 222 HIX|
2002 %17,0000H 3,400
203 U=0IH L S4EX oY
A HMEH 5002 %2, 0000H 22 2,000
OHZI| SYAM 242 2,332
o50mm O|&t 185,000 *53| 95
o 51mm ~ 80mm 218,000 x33] 654
o81m 04t 251,00024*33] 753
OlXZ%42] 14,819
OHLR BESAAR S| BE 42
2, 7402 %3502 959
04522 NS0M 36 42
130,00024*15] &1+ 122 1,560
O2SZHY =522 NSOIX 442
502 %13,00021 * 122! 7,800
OABHEE Q2 JHAE AL 442
802 %3,00021* 122 2,880
OMBIEERS 2RLE +42
2721%5,00021% 122 1,620
02 22294 170,876 161,060 9,816
S0 At 170,876 161,060 9,816
O[Z2R3LHAI 140,036
022 LA g 2B 23
40021%20,000S * 122 96,000
OS=2 XA S| 2EHE
2, 740211005+ 1228 3,288
OZI|2t DIAFE £&H ABEA S
SR 2, 74050 S +43)| 548
oplgRe P28 M3 23
200,0002 * 122 2,400
OALE FAAER S4R
35021%9, 0008 + 122 37,800
O[AEZHIRXIHI] 30,840
OAlsleE Q3 nel T2 FAE4H|
1,240,0002 * 122 14,880
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S SEARA
B ARTASZR(BT/MEAE - 23)
Cigl ARE 2o (ALTRI|Y) (cr9l: &g
) _ oM e, hoH -
SH - B S9(3H) - NRAY - BES S cR HIDS2
oz T8 AH KA
280,000 =123 3,360
OMoldE 2453t IZ2 )8 MK X
S| 200,000&*12& 2,400
OJIA Az =& AAE SXE24-H|
800,000& x12& 9,600
ORIRA CCIV AIEZ 50,000& 123 600
oiglgl(&+=E301Y) 60,000 40,000 20,000
(1= ]]s]! 60,000 40,000 20,000
801 olidlbl 60,000 40,000 20,000
01 BHoilbl bl 60,000 40,000 20,000
S0 & 60,000 40,000 20,000
Oollblbl (&==% Arioil &t
20,000,000& *12] 20,000
Oolliblbl (&==% X220l AF)
40,000,000& *12] 40,000
St 2| (A /Mot E - &F) 22,045,766 19,268,358 2,777,408
= 13,490,000
J| 70,798
& 412,800
o 8,072,168
i=E T E 2d2el(ot=E30(e) 271,749 311,769 240,020
=B I E 22| 271,749 311,769 A40,020
201 LEt2Ad| 255,249 311,769 256,520
02 2323l 255,249 311,769 A56,520
S0 &t 255,249 311,769 256,520
OIAEEHIRXIH] 64,309
OUiSH=8EIZE SHID| ZPS FA=
2iyl 1,500,000 28] 3,000
OUES=8EE 2HE Rl
5,000& 3, 782m" 18,910
OUSHI+EZE HAEEI|IS SA
2ltl 10,000,000 *2CH 20,000
oBIzs X2l 2,000,000 +8CH 16,000
Oli+EIZE 2 7
426,600 x15= & 6,399
Oo[s=ul] 190,940
OUSiaHIE MIIQ3(10Y)
1702 %141, 000KW=1JH 2«63 143,820
OUSiaHIE MIIQLB(HY)
130&*18, 000KWx 10 2 +6H 14,040
Ol+=EIZ& glagE)| d22(AR)
1,654 x20,0002| & 33,080
405 RHaHESH| 16,500 0 16,500
01 I SEFH S| 16,500 0 16,500
S0 &t 16,500 0 16,500
OUSti+8ad HHE)| 204X
5,500, 000:& *3CH 16,500
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S SEARA
B SlAE B2(BB/ABAST - 23)
&2l Stkexeld 2g2el(ot=E301g) (Eel &S
2 . il oy 11 0f o .
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
Stdeld 2dael(cte=E201Y) 3,438,419 4,901,600 21,463,181
=2 S3ot=xelAld 2F2t 180,000 80,000 100,000
401 AlIEHIZ S 0HYI 180,000 80,000 100,000
01 Al&Ht| 180,000 80,000 100,000
=0l & 180,000 80,000 100,000
Odt=XelAlE =282 &2l0| EXSA
15,000,000 #2014 30,000
Odt=HelAlE A8 CI22E SA
150,000,000 *1JH 4 150,000
gy SSot=HM2lAE 2 50,000 18,000 32,000
401 AlEHIZL O] 50,000 0 50,000
01 AlZHl 50,000 0 50,000
=0 &t 50,000 0 50,000
OSZIIEAE HEH™ EXSA
50,000,000 *1JH 4 50,000
ot=Xeld =gl 3,208,419 4,803,600 1,595,181
201 ¢et2d| 2,777,389 4,312,578 21,535,189
01 AbR2teld] 998,034 1,898,264 A900,230
=0l &t 998,034 1,898,264 A900,230
OAIRES 7| 20,0002 202 +32 1,200
Odt=XclAlE A2l =25 72
50,000& 85102/ 4,000
OgRE H=3d 7Y 100,000 +53] 500
OXMclAlE et EE= NIAHI
500,000 35 1,500
Odt=XelAlE s a8
42,0003+ 12& 504
Odt=HelAld Zele ¥ SAD| |X2
clbl 300,000 *3CH*3IH A 2,700
OO0RAHZ2X S AL
100,000 20 2,000
Odt=Xeld HNEE 2
4,500,000 =294 2 9,000
Oct=HelAE ekl 82244
6,000,000& * 12| %501 2 30,000
Odt=XclAlE oIS+ dE2E4HI
800,000 *42] 1 A 3,200
Odt=XelAlE FZ A
2,000,000 594 2 10,000
OgXod 2= 9,000,000& *12 9,000
O3zalel EI| SAH
100,0002 x12CH*12] 1,200
OEEI| AAHI 100,000 +8LH*12 800
OdII &8l EI1Z A 6,000
ogg 2,000,000& *12 2,000
ous 3,000,000& 12l 3,000
g 1,000,00024 %13 1,000
OSAIDIA ALBAIE EOIZBAEI(HE)
400,000& *12] 400
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SH: SEARA
BE: GlaC 22 (2Y/AGHAEE - +H)
ool SHHEIE 2YBl(sHEBIIY) (Sl &2
2 Off koK & T 0f AHY =
2A -3 - (3 H) - MM = CE (715 o) Hlws2
OtHII U FE A 3,000, 0002413l 3,000
O%F TS FE A 3,000,0002/+33] 9,000
OAZAE CHISA SZAAI(HHE)
6,000,000%*1§| 6,000
OL2ZAA H4 SB RHSE AAHHE)
2,000, 0002/ %43 8,000
OBt=HeIAIL MEHSS ZA| (S, Of
=) 1,000,002 %27} A x 122 24,000
OUEsI+HIAIE Tl XIS 2AY)
5,700, 0002 +73l 39,900
Ost+HMAIL RYH 2LI|
1,000, 000247 JH30H 4 21,000
OAZAE BE A 3,000,00024 13! 3,000
Ormze| LR 48,000
oy 1,300,000+ 122 15,600
S E 1,200,002+ 128 14,400
ogiEs) 200, 00021 x30H A 122 7,200
oA 900,00021 128 10,800
Ost=HeIAlL Z2ltha|
330,000, 00024194 2 330,000
O« T Szl e
4,085, 0002 +5)H A 62 122,550
OUiDI TS SXIZ2l CHal
3,750,002 128 45,000
Odt=HeI AL Asial Beithay|
21,000,002 * 122 252,000
Ol?I83 44 180
ONBZ MRS ALY
20,0002 +3% 331 180
CIEEET) 4,400
OBl+H2IE 2URH YWD =D
=4l 40,0002 112 4,400
02 222l 1,779,355 2,414,314 634,959
=0) 1,779,355 2,414,314 634,959
OuBHEE ABR 52,800
0¥, tHEs=HIAL
4,000,002 #1221 48,000
OBIEH?| 54X 2l Al
100, 00021 #424 A+ 122 4,800
OHY HMBIH ABE 3,600
OYAGEHEIAIL L SHEIH
900, 0002 * 122 10,800
OUHZGHHEIAL & S BIX
900,000 128 10,800
OlSGEHEIAIL L EHEIH
300, 00021 #1022 3,600
ORMotEHMEIAIL 2 EHEIH
400,00021 1284 4,800
OBHAIBI RIS Y EHBEIY
160, 00021128 1,800
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SN =ZAIEA

M ol 2 (BE/AoteE - =E)

G StXelE 292el(SHEE=RIIY) (B9
. R = . . 04| kel &L G 0] AroH
2A -3 .. A2(3AH) - HIEAE - HEZ (%,,go]) (j@gf HnE2

OARRPolEXelAE & SHEHZIE
400,000 * 122 4,800
Odl=HelAld SZFHMAUSSH ItlH|
800,000 %13 800
OAYorM2I2| #3|H|
54,0002 42 x13) 216
OHADI|orM 22| E3|H|
100,000 x4 *13) 400
OBtEHelAlL HYISHE 222
75,000,000 x13] 75,000
O[AIEZHIKXIHI]-INSS X 2+2] 52,000
OZ%=& TS 42,000
o0& WS SX&2 B A
8,400,000 *57H A 42,000
OChII ™S 10,000
oD TMS RXI&e| BF WA
2,000,000 x5 A 10,000
O[AIE&HIRXIHI] 385,505
O[2256t2=] 385,505
oStEXEIAlE A2 KX 22| Y 22H|
5,0004+8,541m 42,705
odteHMelAE 82X HMEXY S 2K
2| 6,500,000 33 19,500
odtEHMEIAE XHL SXIZ2IH
6,000,000 %33 18,000
OLETHEIH HE |22l L B4
HI 700,000 370 A 2,100
0RAUE RAUBIT K2
10,000, 000! *4LH 40,000
olRC |2tz 4,000,000 *20H 8,000
0 LEXMZIAL SXI2el
4,000,000 *20H 8,000
oUZHE ALE X ZelHl Y 241 118,000
—EIAKI &H| 10,000,000 *1JH A 10,000
—HEAHHO K22
3,000,000 * 1004 A 30,000
-EEEAX A 7,000,000 +40 A 28,000
-==X A 15,000, 000 *2JH A 30,000
—EH)| L 2UAY SRR
5,000,000 *4CH 20,000
0 X2} £2H S22l L 24|
2,000, 0002+ 10CH 20,000
o MEZIAlE SH| U2t X2l L 24|
5,000,000 23] 10,000
o XX, S0 =D KX
1,200,000 1CH 1,200
o HMEIAlE SO0IAE SR 22| L B2H|
100, 0002 *200H A 2,000
o JIHI&Hl SXl&eldl
500,000 *305 15,000
o &J|&H| |SXl&eldl
800,000 *20Z 16,000
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SA: SEARL
B Sl pel(8/ASRG - 23)
Ciel: slaRelE 2d@l(saEaIlg) (el me
- = | OH 48 &= | OH
SA - BB S9I(EN) - MRAL - BYS S SR HIDEY
osABLY SAEHl [
500,0003 x269H 2= 13,000
oCCTV = Al2teld] 200,000 300K 2 6,000
oM THAZMAH| =Xl2cbl
4,000,000 +40H 24 16,000
oUPS =AXl2tldl 1,000,000 *57H A 5,000
oEIE =4H 2,500,000& 102 25,000
OL2AIE |RAIE2H 75,336
O3JIY=I| A28 & 22U
000,000& *42 16,000
OsciXl OISBIE 2|y
5,000,000 =2CH 10,000
ORUESI| SHAl M & 4X
5,000,000 ~1CH 5,000
OaZE AAUHEAD| SHEE wil
25,000,000& *12 25,000
O=dD| g |X2e|
1,500,000& *42 6,000
0422 2&HA WH
5,000,000 «1CH 5,000
O2xHU & dlAHY =Xl2c
8,000,000 * 10 2 8,000
OA2AIE 22 WA
336,000 *1JH 2 336
OetF €5 AIE £H] =sXl2cll
5,000,000& *12 5,000
Odt=Held ATAIEZE W
9,000,000& 19K 2 9,000
O[ANEZHISAH -85 47,650
OJIAEHl |Al2el ¥ 24| 22,000
oZX |KXl2eclH| 500,000 *20CH 10,000
o g FXZel 4,000,000 »1CH 4,000
0&3J| 72l 4,000,000 =2CH 8,000
OAEEHl ®RXl2el & 2=H|
735,000% *20CH 14,700
odE SHEZY KA & B4l
300,000 »24LH 7,200
O&JI&Hl |Xl2elH|
62,5002 *205+32 3,750
O[ANEEHIRRIHI]—&tat 34,150
OJIAHIEHl |X&e] & 2==H| 22,000
oHIZ sXlateldl 500, 000& *20CH 10,000
o g=J| =Al&cll 4,000,000 »1CH 4,000
0&3J| 72l 4,000,000 =2CH 8,000
OAEEHl RX2el & 2==H|
700,000 ~6CH 4,200
oshal SHEZHY R & B4l
300,000 = 14CH 4,200
O&DI&Hl |Xl2elH|
62,5002 *205+32 3,750
O[AMEEHIRXIHI]—=2A 46,850
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SA SEARIA
B Sl pel(8/ASRG - 23)
ol St E 222Gt 301Y) (&9 &
) _ oM e, hoH
SH - B S9(3H) - NRAY - BES S cR HIDS2
OJIHEH =Al&el & 22| 22,000
odI RXl&elyl 500,000 *20CH 10,000
o &=J| |X2eltl 4,000,000 *1CH 4,000
052 A2l 4,000,000 *2CH 8,000
Odt==HelAld 22X HM=&HEsS FAl&
2ltl 1,000,000& *32|*30H & 9,000
OH=E&EH ®=Al&el & 2=l
700,000 & +6CH 4,200
OZN SHEZE S22l ¥ Bl
300,000 =28CH 8,400
O&J|4H| sXl2eldl
65,000 *105*53] 3,250
Ol[dEl - Z2R] 3,887
OHIAZAI| HAZH|(FY)
1,654 %85 £ *10AI 2t 1,406
OHl&ZAI| HZH|(A=)
1,654 %50 £ *10AI 2t 827
Obl&ZAI| HAZH|(&H4H)
1,654 %50 £ *10A12¢ 827
Obl&ZAI| HAZH|(ZM)
1,654 %50 £ *10AI2¢ 827
olezy| - Jt&gl] 2,640
OS2 HzH(FY
1,760 %10 ¢ 30 528
Os=&Yl AzHl(U2
1,760 *40 ¢ 30 2,112
Ols&Hl] 951,521
Ogd oMl I3
1702 %64, 000KW= 1 A +6E 65,280
Ooti2 dt==Held I3
1502 %500, 000KW=1JH A x63 450,000
OUE +SHELEY MIILZ
170&*70,000KW= 1 A +6E 71,400
OLI=dt=HelAd M2
150@ %20, 000KW= 10 A +6 R 18,000
OMSZHEIZH MIIRS
1502 x600KW+ 1200 A +6 6,480
OGNl d MIIe2
13021 %25, 700KWx 10 A~ +6 R 20,046
OSMSHEZE MIR3
1303 * 1, 500KW+8JH - +6 & 9,360
OZMaot=HelAlE &II3
1302 %45, 000KW=1JH 2~ 6 35,100
OZMSHEZE MIIR3
1303 *B00KW 101 2~ 6 6,240
OltESdtr=HelAlE &IIR3
130 %2, 100KW37 1 2~ 6 60,606
O0t=ot SHELZH HMIIR3
1303 *550KW21 1 A~ +6 9,009
OliEg A2AIE BXo2 F2(LNG)
800& *25,000m* *10& 200,000
202 04| 29,600 29,600 0
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Hels 2oz Crel 1
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S N =
01 ZLHO4H] 29,600 29,600
=0 A 29,600 29,600
OgddtexelAld =0
20,0003 *4Z 1002 8,000
OUEdtrxelAE HRFE0]
20,0003 *4Z 1002 8,000
OBt elAld BRFR0YI
20,0003 *3Z 1002 6,000
OdteXelAlE =Z22ZA AZTHF 08|
20,0003 *2Z 1002 4,000
Odt=HelAld 2E¥ B3 WS O]
120,0003 6 G x5 3,600
206 M ZH| 157,662 168,922 A11,260
01 M=zl 157,662 168,922 A11,260
S0 &t 157,662 168,922 A11,260
OdtxelAE =3 2ZEdlE M=H
2 10,0002 *100E #3323 3,000
Odt=HelAld gohrE & AHIUS 2
2 400,000& *23] 800
OgGAdtrHelAlE 2+Eh| 29,722
OS&HI(PAC) 330 *B0kg*365 9,636
ONEZXSEH 5,6103 »6kg*365! 12,286
OLRDIMLIESE 430,000 *10E+13] 4,300
OJt8 ALt 750,000& * 1 E 23] 1,500
OXtE &AL 1,000,000& *1E+23] 2,000
OUZdteHelAlE S| 124,140
oRa= 473,0002 x8E=+63] 22,704
OM3LAarA 180& 200, 000kg 36,000
O&AM(2=Heal) 12, 100& *2007H 2,420
OS&HI(PAC) 3302 *x480kg*365! 57,816
OEHM 6,500 *10kg 80! 5,200
207 Ao 243,768 292,500 N48,732
01 22E&4H| 232,268 281,000 A48,732
20 & 232,268 281,000 N48,732
Odt=HelAld JlsdH 29| (8t
52,268,000 =1 4 52,268
Odt=HMelAld AFI SR B2 (S4AH
20,000,000 10 4 20,000
Odt=HelAld AldE8 EIItHEE 29
5,000,000 *7IH A 35,000
Odt=HelAlE dUHEEY S8A(FY,
s, UE) 25,000,000 *301 2~ 75,000
O=& S FX2e| il 2INE 82
8,000,000&*13] 8,000
Ol ®J|&H| oM 82 (ol4=Xel
B I E) 12,000,000 *2J &~ 24,000
O2X7T1 20X elAld 22 CiE RITa
& 9| 18,000,000 *1JH 2 18,000
03 A& 72| 11,500 11,500 0




S SEARA
M Sl el (BE/AotE - E)
Ciel: slaRelE 2d@l(saEaIlg) (el me
- rol 1 = 0 -
S - B S2(B) - NISAY - BAS S cR HIDS2
20l & 11,500 11,500 0
Olti=2ot= AIEAH24!] 11,500
oAgA =IP|P? 1Y
10,0002 x255 %43 1,000
O&EA AN 10,0002 x755+23| 1,500
OEZAIIE A< 1,500,000 *4SET 6,000
O&EA BN ¢
20,0002 x255*23| 1,000
O& g4 &HH| A2l
100,000 x10&*23] 2,000
St==2t1 Hul(st==301Y) 12,073,598 6,476,046 5,597,552
= 8,634,000
| 70,798
i 3,368,800
otXel 2L =& HIOHES A 72,000 74,000 A2,000
201 LEr23d| 2,000 4,000 A2,000
01 AtS2teltl 2,000 4,000 22,000
204 & 2,000 4,000 A2,000
OEHEAN &Y 2 HES AZEN(AU
TOCAD, EST) =& 1,000,000 =2CH 2,000
401 AlEBIZL2CHYI 70,000 70,000
01 A&l 70,000 70,000
20i & 70,000 70,000
Oodt==Hel 29U Bi==&H] IS A
70,0003 *1,000m 70,000
LCSot=2t2 El 310,000 296,400 13,600
= 155,000
= 155,000
401 AIEBIZ U] 310,000 296,400 13,600
= 155,000
= 155,000
01 A&t 310,000 296,400 13,600
= 155,000
= 155,000
20{ & 310,000 296,400 13,600
= 155,000
= 155,000
OL=ole-2=2 ZHISA
310,000,000 * 101 2~ 310,000
= 155,000
i 155,000
NS 3K ot-2=2 FHIALS 711,000 378,000 333,000
= 100,000
i 611,000
401 AlZ2BIZL2CHYI 711,000 378,000 333,000
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S SEARA
B Slan pel(8/ASRG - 23)
Ol SiE0 BHI(SIE20/9) (e e
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 100,000
= 611,000
01 A& 660,000 326,000 334,000
= 100,000
o 560,000
204 & 660,000 326,000 334,000
= 100,000
= 560,000
ONME ZSXF ot=2E JHIAIS
660,000,000 =14 2 660,000
= 100,000
= 560,000
02 Z2ldl 50,000 50,000
20i & 50,000 50,000
ONS SE3X7 o222 HHIAIY 22l
a] 50,000,000& *13] 50,000
03 Al =CHYI 1,000 2,000 21,000
20 & 1,000 2,000 A 1,000
OANS FEXF ot=2Z ZHIAIY AIA
S8l 1,000,000&*13] 1,000
g gel ¥ E2X| P o2 ZHIALE 10,069,798 2,440,646 7,629,152
= 8,279,000
| 70,798
o 1,720,000
401 AlEBIZL SCHYI 10,069,798 2,440,646 7,629,152
= 8,279,000
J| 70,798
= 1,720,000
01 A&l 9,364,793 2,135,646 7,229,152
= 8,279,000
J| 70,798
= 1,015,000
S0 &t 9,364,798 2,135,646 7,229,152
= 8,279,000
J| 70,798
= 1,015,000
O [AI&HI] 9,364,793
oge del & X T stz |
Ar 9,364,798,000& * 101 & 9,364,793
= 8,279,000
J| 70,798
= 1,015,000
02 Z2ldl 700,000 300,000 400,000
S0/ & 700,000 300,000 400,000
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S SEARA
BH: SlAG Z2|(BY/MFAGE - +F)
SR ot HH| (Bl 2D(¢) (& d
S - B S(B) - NIRAR - BHAS (ggj) @%%gm;ﬁ% D=2
Oget de| & AP o222 A
At 22l 700,000,000& *13] 700,000
03 AlE£0HYI 5,000 5,000
=01 A 5,000 5,000
Oger de| & AP o222 A
AL AIE 200 5,000,000& *13] 5,000
M= MSXF ole=22 J-|IAIY 167,000 190,000 223,000
== 100,000
= 67,000
401 AIEHIZL L0 167,000 190,000 A23,000
= 100,000
= 67,000
01 Al&BI 167,000 190,000 223,000
= 100,000
= 67,000
=01 A 167,000 190,000 A23,000
= 100,000
= 67,000
Obl= ST ot=2t2 HHIZAH
167,000,000 * 12 A~ 167,000
= 100,000
= 67,000
L= oI5 AMEZ2 WHEESA 100,000 100,000 0
401 Al&EHIL L0 100,000 100,000 0
01 Al&H] 100,000 100,000 0
S0l A 100,000 100,000 0
OL= ot=& AMAEZ2 WHEsSAt
100,000, 000& =10 2 100,000
PHZAET BEote2E AZISAt 200,000 0 200,000
401 AlEHIZL L0 200,000 0 200,000
1 Al&H| 200,000 0 200,000
S0 A 200,000 0 200,000
OLTRUZ 22022 B DAL
200,000,000& *1H &~ 200,000
212 ot=& HHIAY 22,000 0 22,000
401 Al&EHIL 20| 22,000 0 22,000
01 Al&BI 22,000 0 22,000
=01 A 22,000 0 22,000
Ogaez Mss s32eNY o= &
HICHE &= 22,000,000&*13] 22,000
QeI FEAHZAL 100,000 100,000 0
201 LB AH| 100,000 100,000 0
02 B324H| 100,000 100,000 0
S0 A 100,000 100,000 0
Oz =4H| 4,000,000 *25JH 2~ 100,000
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S SEARA
B Slan pel(8/ASRG - 23)
Ol SiE0 BHI(SIE20/9) (e e
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
ot IR 101,800 400,000 A 298,200
401 Al&HIL L0 101,800 400,000 A298,200
01 AlEHI 101,800 400,000 A298,200
=0 A 101,800 400,000 A298,200
Odt=22 I8
101,800,000 * 12 A~ 101,800
Het AAXIF ol=2t2 EHIAIY 200,000 0 200,000
401 Al&HILL0HY| 200,000 0 200,000
01 Al&H] 200,000 0 200,000
S0l A 200,000 0 200,000
Ot MHEXT o422 HU|IAI
200,000,000 10 2~ 200,000
Q0= OFMI AXIZA 20,000 0 20,000
401 AlEHILL20H] 20,000 0 20,000
01 A&t 20,000 0 20,000
S0 A 20,000 0 20,000
Oz OtMI AXIZAH
500,000 4000 2~ 20,000
== OISol=E EHIAIY (Bt=E20(Y) 6,222,000 7,324,043 A 1,102,043
= 4,856,000
& 412,800
= 953,200
0|t 24X7 sHE 0IS6l=E EHIAY 1,203,000 700,000 503,000
= 765,000
o= 87,600
= 350,400
401 A0 20| 1,203,000 700,000 503,000
= 765,000
< 87,600
= 350,400
01 Al&HI 1,053,000 597,000 456,000
= 765,000
& 87,600
= 200,400
=0 A 1,053,000 597,000 456,000
= 765,000
& 87,600
= 200,400
O [Al&HI] 1,053,000
o0l 22X+ sHE0O2 otk &
HIAS 1,053,000,000& *1JH A~ 1,053,000
= 765,000
& 87,600
= 200,400

|
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SH: SEARA
B sl 22l(BHY/MBSE - +7)
Sl sOHE 0IS6kE UM (BIE=E201Y) (& d
S - B S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” D=2
02 22| 150,000 100,000 50,000
S0 A 150,000 100,000 50,000
o0l X+ sHE0I2 ot=& &bl
AP 2Zeld| 150,000,000 *13| 150,000
T 237 sHE0IS6Ix=5 EBIAIE 637,000 9,451 627,549
= 446,000
o= 38,200
= 152,800
401 A2 200 637,000 9,451 627,549
= 446,000
< 33,200
= 152,800
01 A&t 537,000 9,451 527,549
= 446,000
& 38,200
= 52,800
=0 A 537,000 9,451 527,549
= 446,000
& 38,200
= 52,800
Ol[AlI&HI] 537,000
OLXE 2SKF sHEO2 otk &
HIAFS 537,000,000& *1JH A~ 537,000
= 446,000
< 38,200
= 52,800
02 22| 100,000 0 100,000
=01 A 100,000 0 100,000
S 237 sHE0I2 dl=% &
AR Zeld| 100 000,000 *13] 100,000
StAE XX sHE0IS6IE=E EBIAIY 1,376,800 310,449 1,066,351
= 1,130,000
& 96,800
= 150,000
401 Al&EHIL 20| 1,376,800 310,449 1,066,351
= 1,130,000
< 96,800
= 150,000
01 A&t 1,376,800 310,449 1,066,351
= 1,130,000
& 96,800
= 150,000
=0 A 1,376,800 310,449 1,066,351
= 1,130,000
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2A:
I‘I iH :
l:+°| :

o
40
£l
0

A - B .

SHR(S13H) - HFAS - BES

Ofl oK
(BHH)

& T 0f AHY
(15 )

Blw

Ol
0¥

Ostak XX+ sOElSot+E S|

=

& 1,226,800, 0002 104

A H

Mo

96,800
150,000

1,226,800
1,130,000
96,800

150,000

H MW

2,060,600
1,737,000
123,600
200,000

222,000

1,838,600

401 AIEHIZL SO

HoH W

2,060,600
1,737,000
123,600
200,000

222,000

1,838,600

01 Al&HI

S

o
Iy
b=
Siio
o
*

02 2/l
S0f A

O:‘X* OP(*XI-_H( CHH) s0EOS

i

S

200,000,000& *12]

hoH

Mo

hoH

1,860,600
1,737,000

123,600
1,860,600
1,737,000

123,600
1,860,600

1,860,600
1,737,000
123,600
200,000
200,000

200,000

191,000

191,000

30,000
30,000

1,669,600

1,669,600

170,000
170,000

cl
AE AXF sHEDNSo=E EHIAY

H MW

944,600
778,000

66,600
100,000

375,143

569,457

401 AlIEHIZL S 0HYI

HH W

944,600
778,000

66,600
100,000

375,143

569,457

01 Al&dl

M
=
[P

SRR

H

844,600
778,000

66,600
844,600
778,000

375,143

375,143

469,457

469,457
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S SEARA
M. ol 22(2E/A6teE - E)
&2 s0E OiSols=X dUlAIE (ol==301Y) (e
SH - B S9(3H) - NRAY - BES S SR HIDS2
== 66,600
OAS 224X+ sHENSote=% &bl
A 844,600,000 =1 A& 844,600
= 778,000
& 66,600
02 Zelbl 100,000 100,000
20i & 100,000 100,000
OANS B2LXF sHENSGH+E JH|
At 22l 100,000,000 *13] 100,000
alglgl(et==301Y) 40,000 40,000 0
(G:{]s])s] 40,000 40,000 0
801 OilHldl 40,000 40,000 0
01 BHalbl bl 40,000 40,000 0
S04 & 40,000 40,000 0
Oollblbl(ol=% AFZ0AF)
20,000,000 18] 20,000
OollgIgI(Bl=== Xt=0fl At
20,000,000 18] 20,000
HHESAAH| (=T AIEA) (DIEHDIE 5,905,456 6,401,428 N495H,972
olEAY|(A2E)(A+=E3D(Y) 3,220,248 3,334,217 A113,969
ol 23| 3,220,248 3,334,217 A113,969
101 el24d| 2,594,194 2,711,124 A116,930
01 2= 1,513,802 1,488,202 25,600
204 & 1,513,802 1,488,202 25,600
opeE2l] 960,950
0532 (302 3) 5,140,600 *1E* 102 51,406
062 (P25 3) 4,546,3002 x 10 = 10Al 2+ 454,630
o73(31538) 4,115,000 x7H*=10& 288,050
o83(7e8) 2,305,900 *4H + 102 92,236
09245 3) 1,865,700 *4H 10 74,628
Od2=E (18,72 ,50%)
96, 110,000 *50%*23] %,110
Oz 42,300
Ot Xt 40,0003 18102 7,200
ORYII=E 35,100
0 RLI=E 30,0003 *52H x10& 15,600
0 R AUINE(EM) 70,0003 *20E = 10& 14,000
0 2= (M) 110,0002 x5H x10& 5,500
o254 17,600
0200/ &t 100,000 128103 12,000
O 15 0] 4 80,0003 x4 *10& 3,200
o100/ 4t 60,0003 x4 *103 2,400
O&EIIZE=E FIPKZ 4,000
025 0] 4 30,0003 *10¥ x10& 3,000
020014 10,0003 *10¥ 102 1,000
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SA AEARA
M AHH2IBHI(=SAIHA) (OIEH/DIE
Chel: ClHA2IH|(ASE)(AxE5D(g) (e &3
S - B S2(B) - NISAY - BAS S SR HIDS2
Olis3Rd=< 15,151
(OL=18 B0 4,546,300 x4H *4 1%+ 10& 7,456
Ol =18 4,115,000 x4 *4 1%+ 103 6,749
o7rsu= 2,305,002 x1H 4 1%+ 10& A6
OEgRg 27,100
OorE 2| »EH(HI|-H)
30,0003 3+ 102 900
OorM | EH(EI|-8
20,0003 x28« 102 400
OorM e | S (DItA)
20,0003 +«38+10& 600
OTA+H(STHH &4 =)
120,000 219103 25,200
OREZ2+¢(3=+%)
40,0003 «8H* 103 3,200
Oozelgeg 5,140,600 * 15 %%+ 10E 4,627
OAZt22RY 102,123
o6= 12,531 &% 10H *x30A[ 2++ 12& 45,112
or= 11,3193 x7Z*30A| 2Hx 128 28,524
08= 10, 1622 *4Z *30A| 2++ 123 14,634
09%= 9,6203 *4H+30A| 2t 12& 13,853
ANZEXH| 47,600
O5= 250,0002x1Ex10& 2,500
o6= 185,000 108103 18,500
Oo7= 180,0002x7H x 102 12,600
08= 75,0002 x4H x 102 7,000
09%= 175,0002 x4H «10& 7,000
OFAZAH| 140,000 *26H 103 36,400
OYE SOt 115,316
052(0E ) 5,140, 6003 * 15 +60%*23| 6,169
062 (RN& ) 4,546,300 » 10 *60%*23| 54,556
o7=2B153) 4,115,000 7 H +60%*23] 34,566
08=2(783) 2,305, 900 #4 % x60%*23| 11,069
09245 3) 1,865, 7003 *4 L x60%*23| 8,956
O 24| 41,325
0532 (302 3) 171,363 % * 135 x86%+ 152 2,211
062 (P25 3) 151, 543% * 10 +86%+ 15 19,550
o73(3153) 137, 1662 7 x80%+ 15 12,387
08z(723) 76,8632 *4 X »86%* 152! 3,97
09245 3) 62, 1903 *4 X »86%* 152! 3,210
02 JIEH& B 434,250 483,986 A49,736
201 & 434,250 483,986 A49,736
oplezl] 248,584
OFHA (315 E)23H0| 4t
4,161,300& x3Hx 102 124,839
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SN SEARA
o SMHSAAU|(SZARA) (DIEHDIE
Chel: ol dHl(A4E) (42EBD|Y) (erol:zel
SA - B S9(3) - HRAL - BaS s S HIDS2
OFZ(1722)15H0/4
3,126,40021+3 1024 93,792
OFZ(18B2=)15H0/9t
2,995, 3002119+ 102 29,953
O&2=E 24,858,4163 x50%*23] 24,859
Ol+g] 52,600
OJtE+¢ 13,800
YN 40,0002/ +6 % » 102 2,400
0 BYIIE 30,0002+ 132+ 102! 3,900
0RLINE(EM) 70,0003 6+ 102 4,200
0 RYTIE (M) 110,00021+32 1024 3,300
OFIIZa4Y 5,700
020804t 100,000 x3Z+ 102 3,000
0 15E01&f 80,0002 2+ 10 1,600
0 10E0l4f 60,0002 %12+ 102 600
05E 014 50,0002 *124* 102 500
OFIIZ P2 800
025E01 & 30,0002 «2&*10& 600
020014} 10,0002 +2E *10& 200
OS4P4a 10,080
o®HUAY 120,000 7% 122 10,080
O AR 2242 I 210AI2HZDH20AI2}) 22,220
o HAAE(3152)284 04t
11,3192 +3& +30A1 2H+ 10 10,188
o HHAR(1752) 15014
10, 1622 3 *30AI 2++ 10 9,146
o MR (185 =) 154 0|8t
9,620 12 +30A12++ 10 2,886
OlZHZAlHI] 9,800
OFAZA| 140,00021+72 102 9,800
OlHEEIHI] 29,832
OFZ(3152)2BH0I4
4,161, 3002 «3H +60%*22] 14,981
OFB(1722)15H0/4
3,126, 4002 +3H +60%*23] 11,256
OXZ(182) 1502t
2,995, 3002+ 1 +60%*22] 3,595
Ole1r2 Al 10,691
OFZ(31&3)28H0( &t
138,710 3% +86%+ 152 5,369
OHB(1652)15H0/4
104,2133 3% +86%* 152 4,034
OHF(1BSE)15E0/8t
99,8433 »1H +86%* 152 1,288
Ol=24s2H|] 13,200
OXZEXHI(EHA 180,000 x3Z* 10 5,400
OXZEXHI(EH) 175,000& x4+ 102 7,000
OFAAT &AL 40,0002 *102 800
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S SEAA
M. HHSHAH| (=T AFEA)(JIEHDIIE
TPl QIS oly|(A4T)(MEERI|2) (el me
SN - O(BIH) - NRAY - BAS (ggj) @‘ggﬁ‘” MinEs)
02 =0IAHUBEZ 87,525 87,525
=01 A 87,525 87,525
Ozee AuTE 22
2,199, 120,000 *3.98% 87,525
M 2L2I(IHY) 22X 282842 S 84,573 81,612 2,961
S0 A 84,573 81,612 2,961
OzexaZX Ik 2u3
748,345,000& %4 . 5% 33,676
OZLNDRT AYLH 223
748,345,00021+3.98% 29,785
OzexNaEX DERE 2u3
748,345,000 1. 8% 13,471
O3RAIZZX ANEYE 2E2
748,345,000 *1.021% 7,641
olEa=2dy|(ot=S) (ot 201Y) 2,056,690 2,443,047 N386,357
olA29Yy| 2,056,690 2,443,047 A386,357
101 el4| 1,541,416 1,927,773 A386,357
01 B 1,069,713 1,354,286 N284,573
S0 A 1,069,713 1,354,286 A284,573
oJlEa 651,043
06=(32E=2) 4,546,300& *5H x9E 204,584
o7=(2832) 4,115,000& x8H x9E 296,280
0o82(7a) 2,305,900 x4 H «9& 83,013
09=2(45E) 1,865, 7003 x4 H+x9& 67,166
OHZLEY(IE 7 ,50%)
72,337,916 *5%*23| 72,338
(@P) == 44,520
OLi[[E==N; 40,0003 x 1649 5,760
OR2II= 38,760
0 R AII=E 30,000 x52H x 12& 18,720
0 BAIIES(EM) 70,000& x16H*12& 13,440
0SS (M) 110,000 x5 » 128 6,600
O&I|I2E5H 13,230
02080 & 100, 000& x9H x9& 8,100
015014 80,0003 x4H x9E 2,880
O5E 0l & 50,000 x5 92 2,250
OII2ESE FIHIHA3 1,890
0253 0| & 30,0003 x6H 92 1,620
02040 & 10,0002 x3H x0& 270
OUREF+ 9,430
O5=2 U= 4,546, 3003 2 x4 . 1%+9& 3,356
o6z U2 4,115,0002 x4H x4 1%+9& 6,074
Os4gmay 1,350
OOIM BRI AL (HI|-&)
30,000 x 1 +x9& 270
OQtM 2| =S (HD|-8)
20,0003 x3H*9& 540
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2N =EAIEA
ME: HYSHA|(SZARL) (OIEHIIEN
. oIH2YH|(ot%) (Gt=E301Y) (e
SH - B S9(3H) - NRAY - BES S SR HIDS2
OorM |~ D AItA
20,0003 «3H+9H 540
O&ez=g 27,270
Oot=% 120,0003 *4H«9& 4,320
Odt=Hel 150,0002 x17H+0& 22,950
OfIE2R+<(H=0=)
50,0003 17 +93 7,650
OAlZte2R22Y 62,732
06= 12,5312 *5Z*30 A 2H+9F 16,917
Oo7= 11,3192 x8H +30 A| 2++9E 24,450
08= 10, 1623 *4H+30A| 2++0F 10,975
09%= 9,620 x4 *x30 Al 2++0E 10,390
OZF = AlH| 140,000& 21 x9& 26,460
OZE SOty 86,807
062(32ss) 4,546, 3003 *5H x60%*23] 27,278
o73(2853) 4,115,000 *8% x60%*23| 39,504
08z(7133) 2,305, 003 x4 H +60%*23| 11,069
09=(653) 1,865, 7003 4 x60%*23] 8,956
O 24| 31,108
062(32ss) 151,543 x5 86%+ 15 9,775
o73(2853) 137, 1662 *8H x86%+ 15 14,156
082(758) 76,8633 *4 X «86%* 15 3,967
09245 3) 62, 1903 *4 X »86%* 152! 3,210
OXZEZH| 33,885
0O6= 185,000& 5 +9& 8,325
o7s 180,000& «*8H +9& 12,960
08= 175,0003 =45 «9& 6,300
09= 175,000& *4H +9& 6,300
02 JIEt™ B 471,703 573,487 101,784
=0 A 471,703 573,487 A101,784
oJlEs 261,994
OXHA(1623) 15H0| &
3,064,0002 1 +92 27,576
OXFA(0s3) 1540|Ct
3,255,800 x8Y «9E 234,418
O S 29,110,416 3 *50%*23] 29,111
O=¢ 43,050
osxY 21,960
o Xt 40,0003 +8H+93 2,880
0 R LIE 30,0002 x35Y«9& 9,450
0 RAIIE(EM) 70,0003 x99 +9H 5,670
0 RUIE(AM) 110,000& «4H +9& 3,960
o&JI2sg 4,770
o 15 0[ & 80,0003 x1H+0& 720
o 10= 014 60,0002 x5 H x9E 2,700
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SA SEARIA
M. HYE2IZH(=TAFEA)(DIEHDIE
Sl olE2dd|(ol=Z)(ol+==301Y) (Gt &
SA - EH - CR(B) - NRAY - BaS S SR RS2
o5& 0|4t 50,0002 x3H 9 1,350
o&IIZ2EY It K3 120
0205 0| & 10,000 x 1Y 12& 120
SRy 16,200
o &= (at=xal)
150,000 »9H 122 16,200
OAIZIRI224Y 23,524
OHIHE (162 =2) 15014
10, 1623 *1H*30A| 2++0E 2,744
OHIHE(2B3z=) 15402t
9,620 x8H*30A| 2t+0F 20,780
OFHZAlH| 140,000& *9H 0 11,340
OZEFIt| 34,933
O (165 ) 15404
3,064, 0002 *1H *60%*23] 3,677
OHF(BSLE) 1540|0t
3,255, 8003 x8H *60%*23] 31,256
OS2 AHH| 12,518
OFZ(16EE) 15404
102, 1333 * 14 »80%+* 15 1,318
O&FZ (235 ) 1540|ct
108, 5263 »8H »86%+* 15 11,200
OFEAZE &Y 40,0003 x2H+9& 720
OAZE=xH]| 75,0003 9«0 14,175
OSdgRigE| 80,0002 x99 x9& 6,480
oung:sd 536,824,000& *1.8% 9,663
O&JFEE 0| 177,650 *9H x5 7,995
OFEJZE HRFZ 04|
20,0003 x*9H x 10 «9H 16,200
204 XA 20,160 20,160
2 EEYRZL| 20,160 20,160
=0 A 20,160 20,160
O3 ILBALAL SR 2FH|
0,000& x21H x 122 20,160
M A3 REE3S 49,114 49,114
01 H22E2 411,021 411,021
=0 & 411,021 411,021
OH=!Y= 2,112,880,000& *%% 190, 160
@)=PSEE 2,112,880,000& *7.277% 153,755
Of&aY24g3 2,112,880,000& *2.983% 63,028
Ol A3 2,112,880,000& *0. 193% 4,078
2 =22HLEE S 84,093 84,093
S0 & 84,093 84,093
Ocgg&= 2,112,880,000& *3.98% 84,093
Jl2dul(AE)(Md+E301Y) 234,522 230,008 4,514
J|I23| 234,522 230,008 4,514
201 Et2AH| 203,082 201,648 1,434
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S SEAA
M HH2HHUI(=AE L) (OIEHDIIE
Cigl: DB (MAT) (AT 2D/2) (e e
i . roi 1 2 0f s ~
SH - B S9(3H) - NRAY - BES S cR HIDS2
01 AtS2teltl 122,206 120,606 1,600
=0 A 122,206 120,606 1,600
Oo[ger=&Hl] 35,170
OJI2 ARESEHI 50,0002 *305*23] 3,000
O&EAI2e 257 50,0003 *8&*10&] 4,000
O=AD|, A IZ2If 44|
00,0003 *55+23| 1,000
OHIZ =&l 100,000 *35+32] 900
OZH=AD| EE ABE 24|
320,000 x55+23] 3,200
OZH=AD EH HIS 228 F4|
340,000& *55+*23] 3,400
OHA Zelf EH(E™)-LI
300,000 *55+*23] 3,000
OZd Zele E P2l
200,000 *35+*23] 1,200
OZd Zele &&8 2|
180,000& *15+13] 180
OSAEX 7H|
26,0003 *102t A *153] 3,900
OZMEEEZ AZ2 2|
100,000& *55+*23] 1,000
O&==E OlA&tA QI
20,0002 x50 2 %43 4,000
O&=E ZAA QI
50,0003 #5022 *18] 2,500
OYSRE M4 CI4iH|
2003 *1,00001*53] 1,000

Ot S S2= M

0, 0002 %2504 13| 500

024E DO, ol M|

10,0002 x5 & 43| 200
o= =82 MHE|
145,000 23| 290
O=Eg 80 M 150,000 %23 300
OAHA EI| L JIEF 2HE ARB 2
S| 100,000 %103 1,000
O M Tl 60,0004 x 102 600
OGB U&= 20,0002 x50 1,000
OZIIYsH ZAZA +42
9,500,000 13| 9,500
OXgt2)| BT} DMOEST KA
S5 2,500,000 13 2,500
olegse] 64,680
OYZRH|(AIRA, A5 g, I, 2A
, A=) 60,0002 *32 x 1162 20,830
O=ZH|(&5) 60,0002 x2% %3652 43,800
Ol=&HI] 6,656
OX=CHE AREX ZAlH|
8,000 x6 % 62U x 122 3,456
O2LE HIAZ2RX S4H|
8,000 x20% 10 1,600
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S SEAA
N HY2IIHI(=TARELA) (OIEHIIE
Cigl: DB (MAT) (AT 2D/2) (e e
o S oy 11 0f o .
M- FB - ER(S) - HEAY - BES S cR HIDEY
OUiIer & ZAEe SAY
8,000 108 20 1,600
Ol=Ign=H|] 2,700
Od= AR WSH| 300,000 «0H 2,700
2 324l 80,876 81,042 A166
=0l At 80,876 81,042 A166
OlS323LHAl] 19,552
OSENES 28 23
45026005+ 128 3,240
OXt=xt & OIEX BEEZ
700,000 5CH 3,500
O XS XA 300, 0003 *5CH 1,500
OXESA &die 2=
170,000 *3CH 510
04t - BI2E BalHI(A4E)
2,260,000& 12l 2,260
OMZEA & - ol AIEZ 8,542
od=t 1,697&«180E+ 128 3,666
ootk 2,573 *180=+ 128 4,876
Oleizl] 501
O3loja 237 A2H|
1,668 %300 £ *1CH 501
O[AIE&HIRXIHl] 20,400
OArdA 212 FXl2eld
4,000,000 * 10 2 4,000
O3J1g Olidta| Al 2208 FXl2c]
11,000,000& *13] 11,000
OMeBRl Y HAMA D2 SX B
450,000& * 123 5,400
Ol Rtz eryl] 40,423
oxtg SE0(2S
1,96924+270 £ +5CH+ 123 31,898
OXt& ==&l 350,000 x5CH*32 5,250
OXtg A2E 7 300,000& +5CH+23! 3,000
OXte I8N =58
55,0002 *5CH*12 275
202 04| 22,440 22,440
01 2L 22,440 22,440
=0l At 22,440 22,440
O=CddE R4 0|
20,0002 x5 *902 9,000
Od=k 2 WS oy
120,0002 x10 »7& 8,400
Od=Xcl8 RFA Kbl
120,0003 62 +7 5,040
203 RF&l| 9,000 5,920 3,080
01 J|Z2gd g8 3,300 0 3,300
=0l &t 3,300 0 3,300
OJ| 22824
275,000& x 1 2128 3,300
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